Year 5 Homework, Summer Term Week 6

V=YV

1. 2 x 100 =450 0.054 x 1000 =
7654 — 6777 = 6251.33 - 1766.77 =
1435 x 67 =

What is 4545 + 5?

Round 9995 to the nearest 10.

6654 x 44=

What is 30% of 500? (Remember to
find 10% first)
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Quick Comprehension: Complete the sheet “The Outstanding Olympics’. Children should allow
themselves one minute to read the text, and five/ten minutes to answer the questions. Some of the
questions are quite tricky, so don’t worry if you have to talk them through with an adult.

Round 2324.1 to the nearest 100
What is 1% of 660?
What is 3/8 + 5/8 =
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/ . \ Optional Maths Extension:
SQel llngs One bonus house point available
Core Support “
varied nation .\&
variety action “
variation fraction potatoes carrots
variable station £1.50 per kg £1.80 per kg
reply mention
replying other 1 1
r epl ied mother Jack buys 15 kg of potatoes and 2 kg of carrots.
repl icate door How much change does he get from £5?
physical good
individual imagine
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Homework is due in on 18t June
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